2.0m X 5.0m WIDE DOUBLE LEAF DIG IN PALISADE GATE KIT

I
(=) ] L ﬂ
G T (| —
—19 gl
[—] \ o
=i - |~ \
! —— | ——] @\
( F—o ] P — ﬁ
i3 [ |~ —
— L | a
F——] [~ \ !
F— | _— — \\ |
—
| 14 A— ﬁ
F— F—— a
—ll —] — 14 ' I )
]
l— — all
e |~ \
a—
] — ] ] €\
] ] \
— — @\
F—| _— —] \\ |
F— M~ 9 al—
— [~ a1 -
F—_ ]
] e |
[———_] =1
F— |
F—| |
0 (E
)
——
|
E =
s
| - -
<] ]
_— e
(=) B O
=} _ —
== _— e
o —] B —]
| W — F—o]
S i | | = —]
\ — ] ESS —
I | — — F—]
S LI | — | EES —
\ —| _ —
—— 19 — = ——]
| [ _ ]
\ F— ] ESS —]
— L 14 g | - — —
o W —— — = ] ||
- —19 of [ |— = =L —
— I — N | 7 | r = — |
T (g ] | * ™ — \ \\ —
(N C T — | adl— — j— F— L]
RS N S L | [ = —
) Y] e o — J— —
Y — @\ ESS —— L]
—l [ =] o — F— E
S e e -
- S T | [— EESS — -
e Y 19 o — = = G=|
[T —— _
e — | [—
W — —]
- & | F—_
- I I~
S I
b I -
-
—J
Q -
—
E -
N
]
W
-
]

LEFT HAND HUNG
(From Outsidedooking In)

FILE NAME: 2.0m X 5.0m WIDE DOUBLE LEAF PALISADE GATE KIT.dff

! ALL GATES & POSTS ARE TO BE !

FITTED WITH BLACK PLASTIC INSERTS

60mm / 200mm ,

<25

| BOX SECTION HINGE POSTS
ARE TO BE FITTED WITH
TWO GALVANISED EYE BOLTS

ALL GATES WITH 80x80/100x100/120x120

e

-y -
-
) I N
‘ 150
[tem | Component Name Quantity
A | PALI-SLI-2025 -PALISADE GATE SLIDER 2.0m X 25m WIDE 1
B | PALI-CAT-2025 - PALISADE GATE CATCH 2.0m X 2.5m WIDE 1
C | PALI-POS-0012 - 2.0m HIGH DIG IN PALISADE HINGE GATE 2
POST 100X100 BOX SECTION
0 | ACCS-GEN-0001 - ADJUSTABLE GATE EYE BZP 130-150mm b
(W 20
E | ACCS-GEN-0101 - UNIVERSAL GATE OROP BOLT 2
F | TRIPLE POINT PALE / ROUND & NOTCHED / SINGLE POINT. ON 32
REQUEST
G | ACCS-PAL-0002 - M8 X 25mm BOLT / ACCS-PAL-0003 - bk
M8 SNAP OFF NUT FOR SECURITY BOLTS
H | ALCS-RIB-0003 - 60x60 BLACK RIBBED INSERTS b
| [ ACCS-RIB-0006 - 100X100 BLACK RIBBED INSERTS 2
bk Sl E’lﬁT\LLEI KIT-1524 - 2.0m X 5.0m WIDE TRIPLE
DRAWN LT 13/07/21 =D = ZUMTE A .UM
TOLERANCE 1= 2 POINTED DOUBLE LEAF DIG IN PALISADE GATE KIT
Unless Stated Otherwise ||I|IFirstFence® ZDlzgg;lzjﬁEfllley;Svadlk
BRD ANELE HIRE & SALES sales@firstfence.co.ul
l/I SlZE gggﬁm ANY DISCREPANCIES BE FOUND WITH THIS DRAWING, PLEASE INFORM REV
'— -— A2 EJ’;SYT;E%[TEUF THIS DRAWING IS OWNED BY FIRSTFENCE LIMITED. A
I\, WEIGHT: 189.5 kg SHEET 10F 6




2500 2500

i i i
| * + <
o = :)TE‘QE‘ T kil ki ki i ki ki ki kil kil ki T kil ki ki u kil kil ki i kil ki i kil kil ki T kil kil ki i ﬁ‘ajc —
S A s i P P o T =] T A b w—
| |00 o S 00| [
5400
— T
5000 100
— B — ———
[l / i i I
=~
e EE RN R RN TN NN, o
(R ° ° ° ° ° ° ° ° ° ) ) ) ) ) ) ) ) ) ) o) ) ° ° ) ) ) ) © o ) o) ° i
= Qﬂ% T 7=
A H
8 8 Eﬂ o © T
S < el |
) ‘
|
] [I O
=
N
o LU L Ty
—7- 3[5 -—
©] © B © © © ° © © © © © © B © © © © B © © © © © © © © B © © © © © 54 i
RN AR AN RSN R |
A A A A
O (-
LM LM
(-
(- (-
= =
! |
!
300 300
. EEEE— . EEEE—
NAME DATE TITLE
T e —TPALI-KIT-1524 - 20m X 50m WIDE TRIPLE

TOLERANGE 1= 2 POINTED DOUBLE LEAF DIG IN PALISADE GATE KIT

First Fence Itd, Kiln Way, Swadlincote,
Derbyshire, DE11 8EA
01283512 111  sales@firstfence.co.uk

Unless Stated Otherwise III||FirstFence®
3RO ANGLE

HIRE & SALES

l/I SlZE gi&éﬁrﬁg DISCREPANCIES BE FOUND WITH THIS ORAWING, PLEASE INFORM REV
'— - A2 COPYRIGHT OF THIS DRAWING IS OWNED BY FIRSTFENCE LIMITED. A
FILE NAME: 2.0m X 5.0m WIDE DOUBLE LEAF PALISADE GATE KIT.dff I\, WEIGHT: 189.5 kg SHEET 2 OF 6




2.0m HIGH DIG IN PALISADE HINGE GATE POST 100X100 BOX SECTION

2700

S b 5L
1 IR ] o
TS TS \
STEE-GEN-0001 - GATE HOOKS SC 19mm TO WELD FLAT TO'BE WELDED CENTRAL TO POST

1615

380 100

19

T 9
!
FABR-MIS-3104 - HALF FISH PLATE ~ SELF COLOUR

!
65

275
1750
\ —
30 ~
F
> 2 A\ |
;;;%iiii ;;;;%iiii ‘\-l-. ;;;;%iii ;;;;%iii
i S 9 A
o~
__.:j_
27700
- —
NAME OATE TITLE
DRAWN LT 13/07/21 PALI-POS-0012-2.0m HIGH DIG IN PALISADE
TOLERANCE 1= 2mm HINGE GATE POST 100X100 BOX SECTION
Unless Stated Otherwise i

II||| Fi r St Fe n ce@ First Fence Itd, Kiln Way, Swadlincote
Derbyshire, DE11 8EA
BRD ANELE ———HIRE & SALES —— 01283512111  sales@firstfence.co.uk
NOTE:

l/l SIZE éng%LFDEI’:? nnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnn , PLEASE INFORM REV
- - A2 COPYRIGHT OF THIS DRAWING IS OWNED BY FIRSTFENCE LIMITED A
FILE NAME: 2.0m X 5.0m WIDE DOUBLE LEAF PALISADE GATE KIT.dft I\, WEIGHT: 25.2 kg SHEET 3 OF 6




2.0m X 5.0m WIDE DOUBLE LEAF BOLT DOWN PALISADE GATE KIT

! ALL GATES & POSTS ARE TO BE !

FITTED WITH BLACK PLASTIC INSERTS
I £
| ﬁ ﬁ
(=) | ] - ﬁ \ ﬁ W @
=z == === ” ﬁ :
= ( M — | | ~1qL_14 : —] o ﬁ
S I - i e | . : a— | L ﬁ \ i _ i _ ) 77
= =b === | L Ll [\l ) ALL GATES WITH 80x80/100x100/120x120
—l—tl=ti- | Hd=4—" [ / 1 = ' BOX SECTION HINGE POSTS |
o Y e L[ / I ) ARE TO BE FITTED WITH
=== h—=h= = TWO GALVANISED EYE BOLTS
— L F— L] — o — ) | . _ — _ _
| e
(A - ‘
O} . N
150
a LA - - - -
= I 7
Sl j i ===t —
\ \\i@ii@i i = = =11 —
—9 S T |y B | = — 4 —
/ \/\c v L f\\:\|““"=§ i : = - |||
- L) 1A = =t
Ny N i n N ~:_ Il =1r=1(ll—
- —J ] | e N | : ] [ B : =1 —
DN N L | Y e I [ 14—l ==t =1l — 1l é [tem | Component Name Quantity
I = oy T I I A 14 — =- / A | PALI-SLI-2025 -PALISADE GATE SLIDER 20m X 2.5m WIDE 1
= o0y . =)
@ = Oy ad B | PALI-CAT-2025 - PALISADE GATE CATCH 20m X 25m WIDE 1
I _ C [ PALI-P0S-1012 - 2.0m HIGH BOLT DOWN PALISADE HINGE 2
= —— GATE POST 100X100 BOX SECTION
0 | ACCS-GEN-0001 - ADJUSTABLE GATE EYE BZP 130-150mm I
Cw 20
LEFT HAND HUNG E | ACCS-GEN-0101 - UNIVERSAL GATE DROP BOLT 2
(From OutsidefLooking In) F | TRIPLE POINT PALE / ROUND & NOTCHED / SINGLE POINT. ON | 32
REQUEST
G | ACCS-PAL-0002 - M8 X 25mm BOLT / ACCS-PAL-0003 - A
M8 SNAP OFF NUT FOR SECURITY BOLTS
H | ACCS-RIB-0003 - 60x60 BLACK RIBBED INSERTS I
| | ACCS-RIB-0006 - 100X100 BLACK RIBBED INSERTS 2
NAME DATE TIME  PALI-KIT-2524 - 2.0m X 5.0m WIDE
ORAWN LT 13/07/21 TRIPLE POINTED DOUBLE LEAF BOLT
TOLERANCE |+ 2mm DOWN PALISADE GATE KIT
Unless Stated Otherwise ||I|IFirstFence® ZDlzgg;lzjﬁEfllley;Svadlk
3RD ANGLE HIRE & SALES sales@firstfence.co.u
/I SlZE Q%Em ANY DISCREPANCIES BE FOUND WITH THIS DRAWING, PLEASE INFORM REV
'— -— A2 Eg;SYT;E%[TEUF THIS DRAWING IS OWNED BY FIRSTFENCE LIMITED. A
FILE NAME: 2.0m X 5.0m WIDE DOUBLE LEAF PALISADE GATE KITdft I\, IWEIGHT: 1859 kg SHEET & OF 6




N
U
(-

e E— e
100 |/ 2500 i .
O O
ol S wwwwwwww*wwwwwww_ Mwwwwwww*wwwwwww_ S O
LN o‘ = 0O 3;35 ‘ i i ] i 5 i i i F i i i i ] i 5 ! ] i 5 i ] i F i i i i ] il 5 i ] ‘ E;C: o o‘ LN
N ~= J A 11 C-L_—0J b — N
@) O ()
100 3 100,
5400
—
5000 100,
— — — -
' B A A
LM
[~
I0 I | | I | X
@ [} o) o) ) o) [} o) ° ) §
%!_ I QE n
()
Nt ~
(> O o T 5 ~ o
= it S
N ‘ o~
|
(0 ‘ d
Fl LYY L -i%
Gl Sﬁ 6} _ ﬁl‘a =
@] © © © B © © B ©® @ B EJ i
' AN | LT 10N |
! ‘ ‘ !
A
(-
LN
NAME TME  PALI-KIT-2524 - 2.0m X 5.0m WIDE
DRAWN LT TRIPLE POINTED DOUBLE LEAF BOLT
TOLERANCE [+ 2mm DOWN PALISADE GATE KIT
Unless Stated Otherwise ||||| FirstFence® Rt Fence I Kl oy, Swadlncoe
BRD ANELE HIRE & SALES 01283512111  sales@firstfence.co.uk
l/I SlZE Q%ELD ANY DISCREPANCIES BE FOUND WITH THIS DRAWING, PLEASE INFORM REV
'— I\—, A2 EJIEYTI;E%[TEUF THIS ORAWING IS OWNED BY FIRSTFENCE LIMITED. A

FILE NAME: 2.0m X 5.0m WIDE DOUBLE LEAF PALISADE GATE KIT.dff

WEIGHT: 185.9 kg SHEET 5 OF 6




2.0m HIGH BOLT DOWN PALISADE HINGE GATE POST 100X100 BOX SECTION

2000

1990,5

T
[

@

\TU BE WELIED"CENTRAL TQ POST

75

250
— —
~ 1615 _
380 =N
2
- -— — —
Y STEE-GEN=0001 - GATE HBOKS SC19mm TOWELD FLAT |
_ of \io | D O
| A L N | |
I @ 2
%
s TSl | s
X S~ | S
—— 3
= ) > M 30 i S :
FABR-MIS-3104 = HALF FISH PLATE - SELF COLOUR 275 I |
—
. 1750 _ ﬂ‘ 100 o
-
90 o
o 2000 |
NAME OATE TITLE
DRAWN LT 13/07/21 PALI-POS-1012-2.0m HIGH BOLT DOWN PALISADE
TOLERANCE [+ 2mm HINGE GATE POST 100X100 BOX SECTION
Unless Stated Otherwise ||IIIFirstFence® Pl Fence I, Kl Way, Swadincote,
BRD ANELE o HIRE & SALES 01283512111  sales@firstfence.co.uk
l/l SAZZE g@%ﬁ EEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEE , PLEASE INFORM REV
'— - COPYRIGHT ﬁF THIS DRAWING IS OWNED BY FIRSTFENCE LIMITED. A
FILE NAME: 2.0m X 5.0m WIDE DOUBLE LEAF PALISADE GATE KIT.dff I\l WEIGHT: 234 kg SHEET 6 OF 6




